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(h) How does tradable permit result in
mutually beneficial exchange outcome?

Explain with the help of suitable ECONOMICS

diagram.
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(/ What are' the main obstacles of
sustainable  development?  Explain
briefly the rmain indicators of Time: 3 hours
sustainable development.

I TR oW (AN 60 =Ty
TR whremeRl TmeEE e v

Full Marks : 80

The figures in the margin indicate full marks
for the questions

T Answer either in English or in Assamese
¢/ What is transboundary pollution? 1. Answer any tenof the following as directed :
Suggest some policies to combat 1%10=10
transboundary pollution. S R (e WG iR e fa
e A 9 9% A (qigq 0 g (@) What is ecosystem?
Nfsors raT R fra | #fefe vz 2
(b} Give an example of renewable resource.
. x SRR o3 b1 Twrgaet fiy |
fc) Define welfare economics.
e wrfaifey mige fa |
(dj What is market failure?
T4 [Tt 2
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(e)

(a)

()

(9
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(2)

Non-excludability is a feature of

(Fill in the gap)
s Rl T q b1 gy |

(4t 312 77 $90)

The depletion in the ‘ozone layer’ is
caused by

W T WIS IR LT
(i) carbon éiioxide
RRRCRCETEIET
{u) methane
feam
(iii) nitrous oxide
G wHZS
{iv) chlorofluorocarbon
FIFVIRA
{Choose the correct answer)

(z1foT Teah! Ty Tferear)

What is global warming?
(oY Taeet 1 9

What is free rider problem?

TE ST A 6 7

Write the full form of ERC.
ERCR ¢ oig! forat |

{ Continued )

(3)

() What 1s meant by environmental
subsidy?
ARy 1w A= I & e A o
{k} Mention one cause of air pollution.
MY AT 451 PR TCEY 9 |
{I) Define sustainable development.
AT ey Hige Ay |
fm) What is green accounting?
oTes sl & 2
(n) What is travel cost method to decide use
value of environmental good?
i TRER TR T TR 9 o9 g9
AT TSl 2
fo}] What is existence value?
ToifES o fo 2
Answer any five of the following questions :
2x5=10
T AR R e 6 e
{a) Define resource economics.
Feo e e e |
{ Turn Over }
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(b)

(c)

(d)

fe)

o))

(h)

22A /867

(4)

Distinguish between strong
sustainability and weak sustainability.

TG IETETel WE He IZTHIed AwS 4
N1 forat |

Mention two economic functions of
environmernt.

W@ﬁWWWW1

Write two consequences of global
warming.

(ST TRwer 51 “Ifemsy ferm |

Mention two characteristics of public
good.

el ARAE gB1 A TrEe 30

What is meant by embedding effect?
QA 2ro® e & @ T/ ?

Mention two approaches of pollution
control policies.

et el e 1 </t o1 AT Tea 41 |

Write two arguments for environmental
regulations.

Afge frageR Aa 101 §fe o)

{ Continued )

(5)

3. Answer any four of the following questions
5x4=20

AR PP R e iRee Bwe T

fa) Wnte a note on the importance of
studying environmental economics.

Ry s S awge evFe aff G
forat 1

(b) Explain the important characteristics of
property right.

Toifin witered 32y WARERRR 0 390 |

fc) Write a short note on ‘Tragedy of
Commons’.
TrmERla W ceREerd R <@ vy
Bra Tt |

{d) Explain the main principles in using
market-based instruments to
implement environmental policy.

dficgy MME TR I@ TIRT R
TS SRR 0 TETE I |

(e} Briefly mention different economic
instruments available for pollution
control.

dfiee fmgm A om ffew wdtaRee
SfEETR S Ty 1
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(6)

(? Explain the limitations of using
contingent valuation method for
environmental accounting.

ﬂ%@ﬁemmaanqamawaWTaﬁhmﬁ%qamm
PR SRz Soae 1

(g9 Write a short note on development
environment trade-off.

S R R A9 o1 of by B
o= |

(r}) Discuss about the choice of suitable
policy instrument in developing
countries for control of pollution.

HRY TR W TmeE oee et
Mrsars wfEen P s sgamse 54 |

4. Answer any four of the following questions :

10x4=40
TE 2R e wifRtE Sy oy

{a) Explain clearly the interlinkage between
the economy and environment.

A T ARG qee v SRR
Ty =o8E 3o 3 |

{b} What is bio-diversity? Discuss the ways
in which bio-diversity loss may occur.

RE-taba R em-t3aby s 29 @R
PRCYR ST 541 |
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{c)

{d)

le)

{g)

22A/867

(7))

“Externality creates the problem of
market failure.” Discuss the statement
with suitable diagram.

“qferrely JeE fREeR wem TR 3R
T TRy Faiize wreemar < |

Critically explain the Coase theorem.

CPIARSGLH] ST e T |

What is internalization of externality?
How can negative externality be
internalized?

e WeRRaRd T2 AaNe IR
e Sremadiesd g 1R 2

What are the causes responsible for
climate change? What steps have
internationally been taken to mitigate
this problem?

SR ARG YR R 2 R T T
M SBBEeRd [F & meeet 22 4y 2agg 2

What is environmental pricing? Explain
the hedonic pricing of environmental
good.

*HReg w1 Fo iCreain| AN A4 Lall
efieem Racg 9o o=
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